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(5) amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo
1) amgm`{ZH$ A{^{H«$`m
2) Amåb, AëH$br
3) jma, g§̀ wJo

1)  amgm`{ZH$ A{^{H«$`m

1) BboŠQ´mo{b{ggÛmao Vm§~o ewÕ H$aVmZm, H°$WmoS>da:
1) ewÕ Vm§~o O‘m hmoVmV 2) CuSO

4
  O‘m hmoVmV

3) AewÕ Vm§~o O‘m hmoVmV 4) gë’$a O‘m hmoVo
1) During the purification of copper by electrolysis, at the cathode:

1) pure copper gets deposited 2) CuSO
4
 gets deposited

3) impure copper gets deposited 4) sulphur gets deposited

2) CËñ’y$V© à{V{H«$`m Á`m ~hþVoH$ hmoVmV Ë`m ...... ñdê$nmÀ`m AgVmV.
1) E§S>moW{‘©H$ 2) EŠPmoW{‘©H$
3) E§S>moW{‘©H$ Am{U EŠPmoW{‘©H$ XmoÝhr 4) EŠPmoW{‘©H$ qH$dm E§S>moW{‘©H$ Zmhr

2) The spontaneous reactions that occur mostly are ...... in nature.

1) endothermic 2) exothermic

3) both endothermic and exothermic 4) neither exothermic nor endothermic

3) EH$M A{^{H«$`m CËàoaH$ H$aUmè`m E§OmB‘À`m AZoH$ àH$mam§Zm ......... Ago åhUVmV.
1) H$mo-E§PmB‘ 2) Am`gmoEÝPmB‘
3) S>m`¾mopñQ>H$ E§PmB‘ 4) A°bmoñQ>o[aH$ E§PmB‘

3) Multiple form of an enzyme catalyzing the same reaction is termed as ...........

1) Co-enzyme 2) Isoenzyme

3) Diagnostic enzyme 4) Allosteric enzyme

4) H$m`m©Ë‘H$ E§PmB‘bm ........... Ago g§~moYbo OmVo.
1) AnmoEÝPmB‘ 2) H$moEÝPmB‘ 3) hmobmoEÝPmB‘ 4) àmoEÝPmB‘

4) The functional enzyme is referred to as ...........

1) Apoenzyme 2) Coenzyme 3) Holoenzyme 4) Proenzymes

5) AëH$mBb ~|{PZ gë’$moZoQ>À`m Q>{‘©Zb {‘WmBb JQ>mMo M`mnM`Z ho .......... A{^{H«$¶oÛmao hmoVo.
1) MH«$s` H|$ÐH$m§Mm èhmg 2) α  - Am°pŠgS>oeZ
3) β - Am°ŠgrH$aU 4) ω - Am°ŠgrH$aU

5) The terminal methyl group of alkyl benzene sulphonates are metabolized by ..........

1) degradation of the cyclic nuclei 2) α  - oxidation

3) β - oxidation 4) ω - oxidation
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6) {H«$ñQ>b ìhm`moboQ>  (CV) Obr` ÐmdUmV {daKiVo d CV+ Am{U .......... Mr {Z{‘©Vr hmoVo.
1) ŠbmoamB©S> Am`Z 2) Am`moS>mBS> Am`Z 3) âbmoamB©S> Am`Z 4) ~«mo‘mBS> Am`Z

6) Crystal violet (CV) dissociates in aqueous solutions to form CV+ and ..........

1) Chloride ion 2) Iodide ion 3) Fluoride ion 4) Bromide ion

7) hm`S´mo{b{gg hr amgm`{ZH$ hdm‘mZmMr ‘w»` à{H«$`m ‘mZbr OmD$ eH$Vo. KAISi3Og, ho amgm`{ZH$ gyÌ Agboë`m
Am°Wm}ŠboPÀ`m hm`S´mo{b{ggMr à{V{H«$`m .......... Amho.
1)

2)
3)

4)
7) Hydrolysis may be considered as the main process of chemical weathering. The reaction for the

hydrolysis of orthoclase, which has the chemical formula KAISi3Og, is ..........

1)  

2) 

3)  

4)  

8) ídgZ AëH$bmo{ggMr d¡{eï²> ò AmhoV
1) pH H$‘r, HCO

2
 H$‘r, PaCO

2
 H$‘r 2) pH dmT>bm, HCO

3
 dmT>bm, PaCO

2
 dmT>bm

3) pH dmT>bo, HCO
3
 H$‘r, PaCO

2
 H$‘r 4) pH H$‘r, HCO

3
 dmT>bo, PaCO

2
 dmT>bo

8) Features of respiratory alkalosis are

1) pH low, HCO
2
 low, PaCO

2
 low 2) pH raised, HCO

3
 raised, PaCO

2
 raised

3) pH raised, HCO
3
 low, PaCO

2
 low 4) pH low, HCO

3
 raised, PaCO

2
 raised

9) H$ÀÀ`m VobmÀ`m A§emMo Vmn‘mZ CH$iË`m q~Xynojm H$‘r Pmë`mda Ë`mMo H$m` hmoVo?
1) Vo JmoR>Vo. 2) Vo CH$iVo. 3) Vo KZê$n hmoVo. 4) Vo {dViVo.

9) What happens to a crude oil fraction when its temperature falls below its boiling point?

1) It freezes. 2) It boils. 3) It condensates. 4) It melts.

10) ’$im§À`m agm§Mo ewÕrH$aU ..........Ûmao Ho$bo OmVo
1) àmo{Q>gog 2) nopŠQ>Zogog 3) {bnogog 4) goë ẁbogog

10) The clarification of fruit juices is carried out by

1) Proteases 2) Pectinases 3) Lipases 4) Cellulases

11) J°{g{’$Ho$eZ à{H«$ òV Ja‘ dm ỳMr H$m ©̀j‘Vm Amho
1) J°gÀ`m g§̂ mì` Am{U g§doXZerb CîUVoÀ`m WoQ> à‘mUmV
2) dm ỳÀ`m g§̂ mì` Am{U g§doXZerb CîUVoÀ`m ì`ñV à‘mUmV
3) KZ B§YZm‘Ü ò CnbãY CîUVoÀ`m WoQ> à‘mUmV
4) darbn¡H$s H$mhrhr Zmhr
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11) Hot gas efficiency in gasification process is

1) Directly proportional to potential and sensible heat of gas

2) Inversely proportional to potential and sensible heat of gas

3) Directly proportional to heat available in solid fuel

4) None of the above

12) A¾r àÁd{bV H$aÊ`mgmR>r Amdûm`H$ Agboë`m VrZ KQ>H$m§Mo {ÌH$moU ñnï> H$aVmo. ho KQ>H$ AmhoV:
1) hdm, CîUVm Am{U {R>UJr 2) B§YZ, CîUVm Am{U noQ´mob
3) hdm, CîUVm Am{U B§YZ 4) Yya, CîUVm Am{U hdm

12) The triangle illustrates the three elements a fire needs to ignite. These elements are:

1) air, heat and spark 2) fuel, heat and petrol

3) air, heat and fuel 4) smoke, heat and air

13) ‘w»` amgm`{ZH$ KQ>H$ åhUyZ ‘moZmoA‘mo{Z`‘ ’$m°ñ’o$Q> Agbobr H$moaS>r amgm`{ZH$ nmdS>a _______ dJm©Mr AmJ
{dPdÊ`mgmR>r dmnabr OmD$ eH$Vo.
1) A, B Am{U C 2) B Am{U C ’$º$ 3) D ’$º$ 4) A Am{U C ’$º$

13) Dry chemical powder having monoammonium phosphate as the main chemical constituent can be

used for extinguishing Class ________ fires.

1) A, B and C 2) B and C only 3) D only 4) A and C only

14) IS 15683 Zwgma H$moUVm a§JrV ~±S> H$m~©Z S>m`Am°ŠgmBS> A{¾em‘H$ §̀Ì Xe©dVmo?
1) bmb 2) {Zim 3) nm§T>am 4) H$mim

14) As per IS 15683, which coloured band denotes the carbon dioxide fire extinguisher?

1) Red 2) Blue 3) White 4) Black

15) ________ ho gdm©V H$‘r Vmn‘mZ Amho Á`mda àÁdbZ ómoVmÀ`m dmnam‘wio ÐdmÀ`m n¥ð>^mJmda Á`moV M‘H$Vo.
1) CËH$bZ q~Xy 2) ~mîn Xm~ 3) âb°e nm°B§Q> 4) ~mînr^dZ q~Xy

15) ________ is the lowest temperature at which the application of an ignition source will cause a

flame to flash across the surface of the liquid.

1) Boiling point 2) Vapour pressure 3) Flash point 4) Evaporation point

16) Vob, noQ´mob, J«rg qH$dm Vob-AmYm[aV n|Q²g‘Yrb AmJ Imbrbà‘mUo dJuH¥$V AmhoV :
1) dJ© A 2) dJ© B 3) dJ© C 4) dJ© D

16) Fires in oils, petrol, grease or oil-based paints are classified as :

1) Class A 2) Class B 3) Class C 4) Class D

17) ẁEZÀ`m YmoH$mXm`H$ dñVy§À`m dJuH$aUmZwgma, dJ© 3 hm _____________ Amho.
1) ñ’$moQ>Ho$ 2) ÁdbZerb Ðd
3) {H$aUmoËgJu gm‘J«r 4) Am°pŠgS>m`qPJ nXmW©, g|{Ð` noamoŠgmBS>

17) As per the UN classification of dangerous goods, Class 3 is ____________.

1) explosives 2) flammable liquid

3) radioactive material 4) oxidising substances, organic peroxides
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18) _________ À`m g§nH$m©V Vob qH$dm d§JU AmJ Am{U ñ’$moQ> KS>dyZ AmUob.
1) A°{g{Q>brZ 2) g§Hw${MV Am°pŠgOZ 3) Zm`Q´moOZ 4) ho{b`‘

18) Oil or grease in contact with ______ will cause fire and explosion.

1) acetylene 2) compressed oxygen 3) nitrogen 4) helium

19) NFPA Zwgma, BLEVE Mo nyU© ê$n H$m` Amho?
1) ~m°̀ ba H$‘r {dñVma H$aUmao ~mîn ñ’$moQ>
2) ~m°̀ ba H$‘r {dñ’$moQ>H$ ‘hÎdnyU© CnH$aUo
3) CH$iË`m nmVirÀ`m g‘Vwë` OmoaXma ñ’$moQ>
4) CH$iË`m ÐdmMm {dñVma H$aUmao dmîn ñ’$moQ>

19) As per NFPA, what is the full form BLEVE?

1) Boiler Low Expanding Vapor Explosion

2) Boiler Less Exploding Vital Equipment

3) Boiling Level Equivalent Vigorous Explosion

4) Boiling Liquid Expanding Vapor Explosion

20) Aë’$m A{‘Zmo ~rQ>m {’$ZmBb àmo{n`mo{ZH$ E°{gS> ........ Amho.
1) Q>m`amo{gZ 2) ’o${Zb°bm{ZZ 3) A°bmZmBZ 4) ½bmB{gZ

20) Alpha amino beta phenyl propionic acid is ..........

1) Tyrosine 2) Phenylalanine 3) Alanine 4) Glycine

21) EÝPm¶‘Mo precursors / AJ«boIm .......... ho AmhoV.
A) Pm¶‘moOoÝg ~) am¶~moPmoåg H$) AmaEZE S>) à{WZo
darbn¡H$s H$moUVo n¶m©¶ / n¶m©¶o ~amo~a Amho/V?
1) ’$º$ A 2) ’$º$ ~ Am{U H$ 3) ’$º$ A Am{U H$ 4) ’$º$ S>

21) ............ are precursors of enzymes.

a) Zymogens b) Ribosomes c) RNA d) Protein

Which of the option given above is/are correct ?

1) only a 2) only b and c 3) only a and c 4) only d

22) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) {dH$ao ho g|{Ð¶ CËàoaH$ AmhoV, Oo O¡damgm¶{ZH$ A{^{H«$¶m§Zm JVr XoVmV.
~) {dH$ao à{WZmnmgyZ ~Zbobr AgVmV.
H$) {dH$am§Mr {H«$¶merbVm Vmn‘mZmda Adb§~yZ ZgVo.
S>) A‘m¶boO ho {dH$a ñQ>mM©da H$m¶© H$aVo.
n¶m©¶r CÎmao …
1) A Am{U ~ 2) A, H$ Am{U S> 3) A, ~ Am{U S> 4) darb gd©

22) Which of the following statement/s is/are correct ?

a) Enzymes are organic catalyst that accelerate biochemical reaction.

b) Enzymes are made up from proteins.

c) Enzyme activity is not depends upon temperature.

d) Amylase is an enzyme that act on starch.

Answer Options :

1) a and b 2) a, c and d 3) a, b and d 4) all the above
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23) H$mJXmMo ãbrqMJ H$aÊ¶mgmR>r H$moUVo agm¶Z dmnabo OmVo?
1) Zm¶Q´>moOZ 2) AaJm°Z
3) hm¶S´>moOZ naAm°³gmB©S> 4) AëH$mohmob

23) Which chemical is used for bleaching of the paper ?

1) Nitrogen 2) Argon

3) Hydrogen peroxide 4) Alcohol

24) g°nmo{Z{’$Ho$eZ  ______Ûmao Ho$bo OmVo.
1) AëH$br hm`S´mo{b{gg 2) A°{gS>g² 3) jma 4) ~og hm`Śmo{b{gg

24) Saponification is done by ______.

1) alkali hydrolysis 2) acids 3) salts 4) base hydrolysis

25) Am¡fYr Jmoù`m§Mo ñdê$n gwYmaÊ`mgmR>r, J«°Ý ẁëgMo àdmh JwUY‘© gwYmaÊ`mgmR>r Am{U S>mB©O Am{U n§Mog‘Ü ò gm‘J«r
{MH$Qy> Z ò `mgmR>r  ........... OmoS>bo OmVmV.
1) {dKQ>Z H$aUmao KQ>H$ 2) ñZohH$ 3) ~§YZH$maH$ KQ>H$ 4) gm¡å`

25) ........... are added to improve the appearance of tablets, flow properties of granules and to prevent

the sticking of the materials to the dies and punches.

1) Disintegrating agents 2) Lubricants

3) Binding agents 4) Diluent

2) Amåb, AëH$br

1) ‘O~yV Amåb Am{U gm¡å` ~ogÀ`m Q>m`QóeZgmR>r Bï>V‘ gyMH$mMr pH loUr Agmdr:
1) 5-8 2) 4-6 3) 8-10 4) 7-8

1) The optimal indicator for the titration of a strong acid and a mild base should have a pH range of:

1) 5-8 2) 4-6 3) 8-10 4) 7-8

2) H$R>rU Am{U ‘¥Xy - Amåb Am{U AëH$br ¶m g§km H$moUr {Xë¶m ?
1) ~«m°ÝñQ>oS> 2) bo{dg 3) {n`g©Z 4) ’«±$H$crZ

2) The terms Hard and Soft — Acids and Bases were given by :

1) Bronsted 2) Lewis 3) Pearson 4) Franklin

3) ........... ho nmVi Amåb Am{U AëH$br AKwbZerb g§aMZmË‘H$ Am{U g§ajUmË‘H$ à{WZo AmhoV.
1) àmobm‘mBÝg 2) ½bmoã ẁ{bZ 3) ñŠboamoàmoQ>rÝg 4) A°ëã ẁ{‘Z

3) ........... are dilute acid and alkali insoluble structural and protective proteins.

1) Prolamines 2) Globulins 3) Scleroproteins 4) Albumins

4) ‘O~yV Amåb Am{U H$‘Hw$dV ~og Xaå`mZ Q>m`QóeZ à{H«$ òV H$moUVm {ZX}eH$ dmnabm OmVmo?
1) Wm`‘m°b {Zim 2) ’o$ZmoâWmbrZ 3) {‘WmBb Am°a|O 4) Wm`‘m°ë’$WmbrZ

4) Which indicator is used in the process of titration between a strong acid and a weak base?

1) Thymol blue 2) Phenophthalein 3) Methyl orange 4) Thymolphthalein
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5) ______ho ‘mVrMo pH. R>adÊ`mgmR>r gdm©V OmñV dmnabo OmUmao Z¡g{J©H$ gyMH$ Amho/AmhoV.
1) {‘WmBb bmb 2) âbmoao{gZ 3) hm`S|́Og 4) A±W«m{¹$ZmoZ

5) ______ is/are the most frequently used natural indicator for determining soil pH.

1) Methyl red 2) Fluorescein 3) Hydrangeas 4) Anthraquinones

6) ‘oH$mo{ZH$ A°{gS> `m‘Ü ò AmT>iVo :
1) A’y$ IgIg 2) gmpëd`m {S>pìhZmoa‘ 3) V§~mIy 4) ^m§J

6) Meconic acid is found in :

1) opium poppy 2) salvia divinorum 3) tobacco 4) cannabis

3) jma, g§̀ wJo

1) n°a|Q>ab {ànaoeÝg hr ............ ‘wio Xy{fV hmoÊ`mnmgyZ amoIÊ`mgmR>r ñQ>[a{bQ>r/{ZOªVwH$ MmMUr Ho$br OmVo.
1) dmVmdaU 2) gyú‘Ord 3) H$U 4) n°Ho$qOJ gm{hË`

1) Sterility testing is done to prevent the contaminations by ............. in parenteral preparations.

1) Atmosphere 2) Microbes 3) Particles 4) Packaging materials

CÎmao … (5) amgm`{ZH$ A{^{H«$`m - Amåb, jma, g§̀ wJo

1)  amgm`{ZH$ A{^{H«$`m

1-1 2-3 3-2 4-3 5-4 6-1 7-3 8-3 9-3 10-2
11-1 12-3 13-1 14-4 15-3 16-2 17-2 18-2 19-4 20-2
21-1 22-3 23-3 24-x 25-2

2) Amåb, AëH$br

1-x 2-3 3-3 4-3 5-x 6-1

3) jma, g§̀ wJo

1-2


